
Instruction Manual Z42035A1

LOW LEVEL HYDRAULIC DRUM DUMPER

Rev: B  Date: 11/18/2015
© Hercules All rights reserved



2

LOW LEVEL DRUM DUMPER



3

LOW LEVEL DRUM DUMPER



4

LOW LEVEL DRUM DUMPER



5

LOW LEVEL DRUM DUMPER



6

LOW LEVEL DRUM DUMPER



7

LOW LEVEL DRUM DUMPER



8

LOW LEVEL DRUM DUMPER



9

INST-LL/DD VC



10

LOW LEVEL DRUM DUMPER



11

LOW LEVEL DRUM DUMPER



12

LOW LEVEL DRUM DUMPER



11

10

12

4

1

19

5
15

16

14

18
17

8

2

DETAIL A
SCALE 1 : 8

3

9 2

7

20

13

6

13

LOW LEVEL DRUM DUMPER



ITEM 
NO.

PART 
NUMBER DESCRIPTION QTY.

1 F60992A8 BASE WLDMT 48/APOLLO 1
2 Z20841A0 CYL-2-1/2X1-1/2X20 DD 1
3 F54297A0 AXLE-CYL 2
4 F61965A0 CHUTE WLDMNT 48DH/LL DD 1000# 1
5 Z30765A5 BRG FLG 1" 4-HOLE 2
6 Z20749A4 FTG 90 6807-6-6-0 1
7 Z20750A3 FLOW CONTROL #6 SAE 1
8 Z20733A1 BREATHER 6 SAE SINTERED 1
9 Z10013A3 BUSH-MACH 1x10GAx1-1/2 OD 8
10 Z10239A1 PIN SNAP 5/16X2 2
11 F50803 HOLD DOWN/DD 1
12 Z10556A2 WASHER-1-1/4 FLAT X2.280X1/8 2
13 Z10072A1 PIN-SPG 1/4X1-1/2 4
14 Z10690A0 S-HHC 7/16-14 X 1-1/2 GRD 5 8
15 Z10215A9 WASHER-7/16 LOCK MD 8
16 Z10019A7 NUT-HEX FULL 7/16-14 8
17 Z10112A3 S-HHC 1/4-20X1 8
18 Z20585A7 FTG 90 6801-4-6-NWO 1
19 Z20515A1 PP-120V/1P WITH CNTRL 1
20 Z20597A5 FTG STR 6400-4-6-O 1

14

INST-LL/DD VC



H

J

1

DETAIL H
SCALE 1 : 8

2 3
10

9

DETAIL J
SCALE 1 : 8

6

8

7

4

5

ITEM 
NO.

PART 
NUMBER DESCRIPTION QTY.

1 F80167A7 D D APOLLO-48 S VC 1
2 F62989A0 WHL-ASSY/APOLLO 2
3 Z10331A8 WASHER-1/2 FLAT SAE 2
4 F55703A7 WHL-SPCR/APOLLO 2
5 Z30766A4 CSTR-3-1/4 X 2 SWL PHN 2
6 Z10124A9 S-HHC 5/16-18X1-1/4 12
7 Z10201A5 WASHER-5/16 FLAT USS 12
8 Z10036A6 NUT-HEX KEPS 5/16-18 12
9 Z10691A9 S-FHM 1/2-13x1-1/4 2
10 Z10393A3 NUT-LOCK 1/2-13 2

15

INST-LL/DD VC



HYDRAULIC SCHEMATIC

1
2

M

ELECTRIC SCHEMATIC

DOWN
SOL.

CR1 M

CR

16

INST-LL/DD VC






	Cover
	Drawing View22

	Notice
	Contents
	Safety 1
	Safety 2
	MSDS
	Description
	Receiving
	Operating
	Maintenance
	Troubleshooting
	Replacement
	Standard Unit
	Drawing View26
	Drawing View28
	Drawing View29
	Detail View A (1 : 8)

	BOM
	Mobile Unit
	Drawing View31
	Detail View H (1 : 8)
	Detail View J (1 : 8)

	Schematics
	Warranty
	BACK

